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1. BEEHBINA
O FEIA 14, 400 15, 000 A 600
Z AL FHES A 14, 400 15, 000 A 600
ZANLEHE 14, 400 15, 000 A 600
@ HEA 5 10 A5
1 ZEFLELA 0 5 A5
=% BRI B 0 5 A5
2 HEIA 5 5 0
MU 5 5 0
@ ZIMEERAER 845 0 845
LHEE R A 845 0 845
HIEEREIAG 15, 250 15,010 240
2. BEEEBIH

O FTEAHH 17, 286 18,910[ A 1,624
1 TIFHHFEIH 10, 138 11,800 A 1,662
A& 5, 700 7,500 A 1,800
HEEERES 600 600 0
ﬁiﬁﬁ/\ 2, 200 1, 900 300
APt RS 1,638 1, 800 A 162
2 SEEM 120 120 0
SEBE 120 120 0
3 RERBEIM 900 790 110
HERIBER 900 790 110
4 WIEEREH 160 140 20
R R 50 50 0
A A 60 60 0
ERE 50 30 20
5 JHFEM AR B S 100 100 0
VHFEA 2508 B 100 100 0
6 VHEESE M 145 145 0
HEE 145 145 0
7 EIRIBLA 3 H 600 380 220
FlRI S A& 600 380 220
8 RIS 38 0 38
e 1 0 1
Hes U — AR 37 0 37
9 PREEEFS 1 0 1
R 1 0 1
10 IR X H 1, 460 1,410 50
MMAEER 1, 460 1,410 50
11 HAE 4 0 4
W E 4 0 4
12 ZFEHAXH 2,945 3, 150 A 205
EitE 2,945 3, 150 A 205
13 AEE&H 0 500 A 500
A4 0 500 A 500
14 ZHEAFIE R 2 0 2
FIHF) B 2 0 2
15 HESCH 673 375 298
& 673 375 298
® FZIMHEBAEIH 845 0 845
A A AR 845 0 845
HAETEE S E 18, 131 18,910 A 779
FEILEIN =K A 2,881 A 3,900 1,019
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1. BEFRBIA
O FFEEEBARNA 3, 000 4,000/ A 1,000
1 REGHRERET LMEERRANA 3,000 4, 000 A1, 000 e repmpmen
TR G RUE A2 5| X4 PE BRI 3, 000 4,000 A 1,000]"%®
2 EEEESH L EEREIRA 0 0 0
EEEEMEERIRA 0 0 0
BEEBINAG 3, 000 4,000 A 1,000
2. BEEHIH
O BEEBEEREMN 100 100 0
11230 S HEA S H 100 100 0
A1 2540 b A S H 100 100 0
BETLEN S HE 100 100 0
BRI = 2, 900 3,900 A 1,000
1 M ETEBNN S D EB
1. MEBERBIA
M ETRENINAGH 0 0 0
2. MBEETH
M EIEBN S 0 0 0
U — AMEBIRE 19 0 19
A BIE BN S ZE5E A 19 0 A 19
IV TEEXH 0 0 0
T E 0 0 0
id k¢ 0 0 0
LRI AR 0 0 0
AT AR N = 2240 0 0 0
RN 2% 0 0 0
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